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TOTALLY 	 TOTALLY 
DISAGREt 	 AGREE  
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__ d. Even without the free trade 
agreement between Canada and 
the United States, most of the 
job losses and Industrial 
restructuring that Canada is 
experiencing today would have 
occurred anyway because of 
changes in theglobal economy...10....8 ..... 13....15....19....17....I6 	 2 

e. I see the North American 
free trade agreement as part 
of an overall plan by the 
government to improve Canada's 
trade situation with countries 
around the world  8 6  10. .15. .26 .18 .15 2 

f. From what I've heard, Canada 
gave away too much to the 
Americans and Mexicans 
In the MAFIA 	 S 	6 	9 	16. .15 	.16 	20 	12 

I think the government has a 
good idea of how to deal with 
the changes the North American 
free trade agreement will 
bring in Canada 	 16. .15 	16. .19. 	.19 	8 	4 	3 

24. Soma  people say that by signing the North American Free Trade Agreement, Canada 
will tie itself too closely to the U.S. and Mexico and will cut itself off from 
countries outside North America. 

Other people say that Canada should sign the North American Free Trade Agreement 
because Canada needs freer trade with the U.S. and Mexico now in order to 
increase its exports while it continues to work toward freer trade with other 
countries. 

Which of these two viewpoints is closer to your own? 

Cut itself off 	 32 
Should sign 	 60 
(DK/NS) 	  

25. Some people say that Canada has to be part of the North American Free Trade 
Agreement so that Canada will be an attractive location for plants to supply that 
whole North American market. 

Other people say that under the North American Free Trade Agreement, any new 
investment in Canada will be cancelled out by plants moving from Canada to 
Mexico. 

Which viewpoint is closer to your own? 

Attractive location 	38 	. 
Cancelled out 	 56 
(DK/NS) 	 6 
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